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NAME DATE CLASS

ACT MATH QUICK PREP 001
1. The price of a can of soda in a vending 4, Which of the following is the slope of any
machine increased from 50 cents fo 75 cents. line perpendicular to the line with equation
What is the percent of increase? 2x+y-3=07
A, 25%
B 33% A, -2
C. 50%
D. 5% B 2
E 125%
c -
2
. p. -
2
E. -1
2. (2 x—3)( x+1) is equivalent to: 5,  What is the volume of a cube with a side of
2 . length 4 inches?
A 2x*—x-3
B. 2x°+x-3 A. ¥4 i
C. 25 —5x+3 B 2 in’
D, 2x%45x+3 ¢ 4 in’
B 2x*-5x-3 D. 16 in®
E 64 in’
3. (x— 2)2 6.  What is the value of cos Z4 in the triangle
Forall x* =4, =1 below?
x" -4 B
A
x+2
1
B. —
x-2 3
E x+2
C. —
x-2 ct T A
D x—2
T ox+2 A, 512
. 513
E. 1 B /
c. 1213
. p. 1312

E. 12/5
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DATE CLASS
ACT MATH QUICK PREP 002
1. Alan has math test scores of 935, 80, 89, and 4, What is the slope of a line which passes
92, What score must Alan make on his fifth through the points (—3,2) and (4,~1)?
test to have an average of 917
A 712 -
B. 80.0 3
C. 89.0 3
D, 894 B. -3
E. 990 1
C ——
3
D, >
7
E L
3
2, If 3x+4<3x-4, then which of the 5, In rhombus ABCD, AC=6 and BD=8.
following is true? What is the length of any side of the
rhombus?
A, x<-8
B. x<0 A, 3
C. x<8 B. 4
D. xisareal number C. 5
E. no solution D. 14
E. 24
3w If f(x) = x% —x+1, then f(—l) -9 6.  Right triangle 4BC has acute angles 4 and B.
Which of the following is equivalent to the
A 3 expression (cos A)(tan A4)?
B, -2 A, sind
c. -1 .
D. 1 B. sinB
E. 3 C. tEIlA
D. tanB

E 1



NAME DATE CLASS

ACT MATH QUICK PREP 003
L. 6-—|—3| +2=9 4,  What is the y-coordinate of the point on the
A 3 standard (x,y) coordinate plane where the
B. 4 lines y=2x+3 and y=3x+2 intersect?
C. 3 A -5
D. 11 B. -1
E. 20 C. 1
D. 5
E. 6
2. * Which of the following is equivalent to the 5.  The circumference of a circle is 127 inches.
expression 3(x+2)=2(x+3)? What is the area, in square inches, of the
A x circle?
’ A, 67
B. x+12 B 127
C. S5x C. 24z
D.  5x+12 D. 36m
2 E 1447
E. -6x*-30x-36
3. Which value of b is necessary so that the 6.  For all real values x, which of the following
" following system of equations has an infinite is  equivalent to the  expression
number of solutions? sin? 2x+cos? 2x ?
3x-2y=14 A -l
9x—6y=2b g' f
A 7 ’
D. 2m
B. 21 E 4%
C. 28 .
D. 42
E. 84
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ACT MATH QUICK PREP 004
L, What is the next term of the sequence 4. Which of the following is the center of the
‘ 2’6’123224“"? circle with equation (x——2)2 +(y+3)2 =9
B: 16 in the standard (x, y} coordinate plane?
c. 48 A (2-3)
D. 64
E 192 B (23
c (23)
D. (-2,3)
' E. (49)
2. Which of the following expressions is 5. A triangle and a square have the same area.
., equivalent to (_30)2? If a side length o‘f the square is 6 units,
" s which of the following could be the length of
A, <3g the base of the triangle?
2
B. 3a A, 12
C. -6d4° B. 16
D. ~0g? C. 32
2 D 54
E. %a E. 64
3. Factor 2y* -5y-3. 6. Evaluate sin(-30°).

A.

SRR

(y+D){(2y-3)
(y-1)(2y+3)
(»=3)(2y-1)
(y-3)(2y+1)
(y+3)(2y+1)



NAME DATE CLASS
ACT MATH QUICK PREP 009
1, 40 is 80 percent of what number? What is the distance between the points
A 20 (-2,2) and (5,-5) on the standard ()
g 138 coordinate plane?
D. 120 A, -1
E, 150 B. 0
C. 98
D. 247
E. 72

3. .

Sandy has 4 yellow marbles, 5 blue marbles,
and 6 red marbles in a bag. What is the
probability that she will randomly pick two
red marbles from the bag?

2
O
15
b 1l
15
o X
25
p 1
7
4
E. -
5

Which of the following is a solution of the
quadratic equation x* +4x =—47

A, -4
B -2
C. 2
D. 4
E. 3

Kevin is making a wooden frame in the
shape of a triangle. He has pieces of wood of
lengths 8 inches and 15 inches. Which of the
following lengths of wood could Kevin use
to complete the frame?

A, 6 inches
B. 7 inches
C. 22inches
D. 23 inches
F. 24inches

What is the radian measure of an angle of
120° ?

A,

B.

9]
Wk ?jlu ‘;:;’im MI‘;;" ulg’



NAME DATE _ CLASS

ACT MATH QUICK PREP 006
1.  What number is 40% of 1507 4, Which of the following is the slope of the
A 375 linear equation 2x+3y~6=07?
B. 30 5
C. 60 A. -
D. L0 3
E. 210 B. 3
2
2
c. -
3
p. -3
: 2
E. 2
2. Laura bought a pair of shoes for $20. The 5. A company produces cylindrical soup cans
shoes were on sale for 15% Oﬂ‘} and she also of various heights and diameters. Which of
used a coupon for an extra 20% Oftj' Before the following is closest to the diameter that
sales tax was applied, how much did Laura 4
pay for the shoes? would be necessary for a can to hold 20 in
A, $ 340 of soup if the can’s height must be 5 inches?
B. $ 600 A, 1.1
C. $13.00 B. 1.3
D. $13.60 C. 2.3
E. $19.65 D, 1571
E. 3142
3 “ 201 6.  What is the cosine of angle © in the triangle
164 +16% =7 shown below?
A 8 R
B. 10 A, s
C. 16
D. 32 B 2
E 64 17
c. 2
17
p. 2
8
R C

8
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ACT MATH QUICK PREP 007
Diane bought a pair of shoes for 15% off. 4.  What are the coordinates of the vertex of the
Before taxes were applied, she paid $29.75 parabola defined by the function
for the shoes. What was the original price of p=x*+6x—7 in the standard ( x, y)
the shoes? .
A $2529 coordinate plane?
B. $30.60 A (-3-34)
C. $31.25 B. -3,-16
D. $34.21 ( )
E.  $35.00 c. (32)
D. (—3,—31)
E. (3,20)
If 2+3(x—1)=8, then x =7 5,  What is the area, in inches squared, of the
trapezoid shown below?
A, ~2-1- 10 inches
3
B 1 8 inches
¢ 22
5 2
A. 64 in.
D. 3 B. 104 in?
C. 130in’
£ 4 D. 208 in’
E.  400in’
If x is a real number such that x* =256, 6. If 05a<£,then tiilna -9
then x° +\/; =7 2 sine
A. 66 A, sing
B. 68 B. cosa
C. 516 C. cota
D. 4,100 D, c¢sca
E. 262,152 E.  seca
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ACT MATH QUIEK PREP 008
For all real numbers x and y, the operation 4. A rectangle has coordinates (3,2), (-2,-1},
“@ is defined as x@y =x" - y*. What is and (-2,2) on the standard (x,y)
the value of @37 coordinate plane, Which of the following
_ﬁ could be the fourth set of coordinates?
. —1 A. (]’ _3)
2 B. (3-1)
C. (_la —3)
D. (2-2)
E. {2-1)
For all pairs of real numbers M and N where 5. One of the faces of a cube has an area of 16
N=3M-2, M=" square inches. What is the volume of the
N_2 cube in cubic inches?
A T A 4
B. 8
B, 2=V c. 16
3 D. o4
N E. 256
C. +2
3
D. 3N+2
E. 3N-2
Which of the following quadratic equations 6.

has the solutions % and —%?

A 6P+ Tx+2=0
6x* —Tx+2=0
6x* —x=2=0
6x*+x-2=0
2%’ —x—6=0

HEOW

For acute angle &, sinf = -;1 and cos@ = g- .

What is the value of cot &7

A 2
3
B. >
4
5
C. -
3
p. 2
4

=
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ACT MATH QUICK PREP 009

Kelly bought a pair of shoes on sale and paid
$28.00. The shoes were marked 30% off.
What was the original price of the shoes?

A. § 840
B. $19.60
C. 32154
D, $36.40
E. $40.00

If 3—x+£=2,then x=7
2 4

A 2

2
&

7
c. I

6
b 2
g 2

3
log,32="7
A, 4
B. 5
C. 8
D. 16
E. 64

DATE

CLASS

What is the slope of the line 3x—4y =127

A.

B.

0

o

&=

Blw Wik wWih 2w

L]

If D is in the interior of right angle ZABC',
then which of the following could be the

measure of ZDBC?

A,
B.
C.
D.
E.

89°
90°
100°
110°
150°

What is 225° expressed in radian measure?

A,

B.

1

E I

=[§ =¥ ¥
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ACGT MATH QUICK PREP 010
L What fiaction i v hal 1 4.  Quadrilateral ABCD is a parallelogram with
b at fraction is exactly halfway between E vertices (1,1), (5, 2)’ and (7’ 5). Which of
2 the following could be the fourth vertex?
and —3—?
7 A (34)
A v B. (57)
g 3 c. (6,6)
10 D. (43)
c. L £ (9.9)
12
D. =
6
E <
3
2. (2x—3)2 =7 5,  Points 4, B, C, and D lie on a circle of
circumference 15 units. B is 8 units
A, 44§ clockwise from A. D is 6 units
B 2 counterclockwise from C. B is two units
4x+9 counterclockwise from C, What is the order
C. 4x*-9 of the points, starting with 4 and going
D. 4x*—12x+9 clockwise around the circle?
E.  4x* +12x+9 A. A4,BCD
B. 4,CB8D
C. A4D,BC
D. 4,D,CE
E. 4CBD

=5

3. P 3y 6.
If f(x)=-2x"-3x, then f(-3)=? FO<x< % then which of the following is
A 27 a solution of 2sinx =17
B. -9
C. 9
D. 21 A.
E 27

B.

0
aln w|§ o wln aly
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Name:'

Date: Bell:

Unit 7 Test
Polygons & Quadrilaterals

1. What is the sum of the measures of the interior
angles of a 27-gon?

. If the sum of the interior angles of a polygon is

2340°, how many sides does the polygon have?

A. 4860° A. 11 sides

B. 4500° B. 13 sides

C. 5220° C. 15 sides

D. 166.7° D. 16 sides
: 3. Find m«S.

msS =

4. A regular hexagon is shown below, Find the
value of x.

. If the polygon shown below is a regular nonagon,

what is the value of x7

X =

6. Find mzDCE.

(x-2y

¢ (4x + 1)

msDCE =

. If each interior angle of a regular polygon

measures 1682, how many sides does the
polygon have?

A, 12 sides
B. 30 sides
€. 25 sides
D. 15 sides

8. Which of the following properties is always true
for a parallelogram?

A. Diagonals bisect each cther.

B. Diagonals are perpendicular.

C. Dlagonals are congruent.

D. Diagonals bisect opposite angles.

. Which of the following quadrilaterals always have

diagonals that are congruent? Check all that
apply.

Paralielograms
Rectangles

Rhombi

Squares

Isosceles Trapezoids

0 Y 0 B

© Gina Wilsen (Al Things Algebral, 2014




10. If ABCD is a parallelogram, find mzD.

B c
(9x - 1)°
. {13x - 25)°
A D

msD =

Use parallelogram WXYZ
for questions 11 and 12,

X
W

o
-

4

11, If msXYZ = 68° and msWXZ = 71°, find m£ WZX.

meWZX =

12, If XZ = 8x - 18 and RZ = 2x + 5, find XR.

13. The vertices of quadrilateral PORS are given below. Use the distance and/or slope formuals to

determine is PORS is a paralielogram. Use the diagram a a guide.

P('Gr 4): Q("zr 7): R('lr 0), S(;SI '3)

XR =
/7

0 PQRSis a parallelogram
0 PORSis not a parallelogram

Use rectangle ABCD
for questions 14-16.

L~T510
o C

14. If £C = 13, find BD.

BD =

15. Find m£ADB.
msADB =

16. Find m£DEC.
msDEC =

© Gina Wilson [All Things Algebra), 2014




17. If JKLM is a rectangle, find msNML.

J K
3z + 38D
(7::—2]“__‘? N
W L
’ | msNML =
18. If GE = 42 and DH = 16, find GF.
‘ Use rhombus DEFG
. for questions 18 and 19.
D
E
GF =
G 19, If EF = 13 and DF = 18, find Ef.
EH =
- 20. If RSTU is a rhombus, find m2UTS.
R S
{10x - 23)°
U @x+19p
' m«UTS =
Use square ABCD 21. If AC = 26, find BC.
for questions 21 and 22.
A B
[ . BC _
D ¢ 22, If mzACB = (11x — 32)°, find the value of x.
X =

Gina Wilson (All Things Algebra), 2014




23. The vertices of quadrilaterat LMNP are L(-1, 7), M(4, 9), N(8, -1), and P(3, -3). Using the
distance formula, determine the most precise classification of LMNP: parallelogram, rectangle,
rhombus, or square. Use the diagram as a guide.

L M

[/

P N

LMNPisa

parallelogram?

| 24, IWXZY is a quadrilateral with ¥ located at
(-5, 2) and X located at (3, 0). What must be
the slope of Z¥ in order for WXYZto be a

25. Rhombus CDEF is shown below. If the slope
of FC is %, what must be the slope of CD

in order for CDEF to be a square?

w A. 4 G A, 2
: . 5
B. -4 > g 2
7z
C. % . 5
¥ . C- "2—
b. - 5
E _2
4 D. 2
26. Find m2P.
M
/J
msP =

© Gina Wilson (All Things Algebra), 2014




27. Find m«T.

0 » R

Ox=17F  (4x + 28)°

28. Find msJ.

. K
(3x + 16Y

M Lo msJ =

29, If BD = 8x - 27 and EC = 2x + 33, find BD.

B - ) C
E D : BD =
30. Find WX
g 10x : 5 .
,JL /
" 7x+ 8 X
U 8x—1 vV

WX =

® Gina Wilson {Afl Things Aigebra), 2014






Unit 8 Test

Name:
Date: Right Triangles & Trigonometry
Directions: For questions 1-4, solve for x. Round your answer to the nearest tenth.
1. 2.
_x
17/ |y ? 15
6
X = X =
3. 4, ADEF is an equilateral triangle. E
X 8.5
24
11.2
D - F
X = . X =

5. Westfalis is 7 miles south of Edenville and Concord is 13 miles west of Westfalls. What is the
distance from Edenville to Concord? Round to the nearest tenth of a mile.

6. A rope from the top of a mast on a sailboat is attached to a point 19 feet from the mast. If the rope
is 28 feet long, how tall is the mast? Round to the nearest tenth of a foot.

© Gina Wilson (All Things Aigebra), 2014



Directions: Given the side measurements, classify the triangle as acute, right, obtuse, or not a triangle.

7. 11,13, 25 8. 9,15, 19
O Nofaa O Notaa
0 Acute O Acute
O Right O Right
O Obtuse O Obtuse
9,21, 28, 35 10. 8, 12, 14
d NotaA O Notaa
O Acute O Acute
O Right O Right
a Obtuse 0 Obtuse
Directions: Find the value of each variable.
11: - 12|
X ’ 13 X
4
[ ]
Y ¥
13. 14, )
22
Y
NG
})
X = y = x = y =
15.
X =
24
30° Y=
z

|8
]

@ Gina Wilson [All Things Algehra), 2014




16. Find the sine, cosine, and tangent of angle A. Give your answer as a fraction in simplest form.

B N
6 , sind =/
4 cosd =/
20 ¢
tand =/

Directions: For questions 17-20, solve for x. Round your answer to the nearest tenth.
17. | 18.

r

19. 20.

X = X =
2%, 22,
¥ 17 o
25 71
19
X = X =

© Gina Wilson {All Things Algebra), 2014




Directions: Use a picture to help solve the problem. Round all answers to the nearest tenth.

23. The angle of eievation from a park bench 778 feet from the base of the Gateway Arch in St. Louis,
-Mi§$ouri is 39°. How tall is the Gateway Arch?

24. Disney’s Tower of Terror ride in Disney World, Florida is 199 feet tall. If Josh is standing 132 feet

from the base of the ride, what is the angle of elevation from the point where Josh is standing to
the top of the tower?

25, The angle of depression from a bird sitting on top of a telephone pole to the base of a tree is 63°.
If the telephone pole is 18 feet tall, what is the distance between the pole and the tree?

26. A helicopter flying 3,590 feet above ground spots the top of a 150-foot tall cell phone tower at an
angle of depression of 77°. How far must the helicopter fly to be directly over the tower?

BONUS: Malaya is standing directly between a 90-foot tall courthouse and a 54-foot tall bank. If
the angle of elevation from the point where Malaya is standing to the top of the courthouse

is 72°, while the angie of elevation to the top of the bank is 35" What is the distance
between the courthouse and the bank?
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Name:

Date: Bell:

Unit 9 Test
Transformations

coordinates.

Directions: Graph and label each figure and its image under the given reflection. Give the new

1. Triangle ABC with vertices A(-3, 2), B(-1, 7) 2. Quadrilateral WXYZ with vertices w(-1, 1},
and C(6, 1): in the x-axis X2, -3), ¥(0, -6), and Z(-2, -5): in the line x = -3
‘ W)
A ) X,
- B ) YO )
C ) ERENE 2 )
3. Triangle GH/ with vertices G(4, 1), H(5, -4) 4. Rhombus PORS with vertices P(-8, 6), -
and 1(2, -8): intheline y = x O(-4, 8), R(0, 6), and S(-4, 4):in the liney = 2
' ; P )
H( ) I R )
', ) S, )
Directions: Graph and label each figure and its image under the given translation, Give the new
coordinates. :
5. Trapezoid JKLM with vertices J(-6, 6), K(-3, 7), 6. Square RSTU with vertices R(-2, 1), S(3, 4),
L(-1, 3),and M(-8, 0): (x, ») - (x+7,y=3) 7(6, -1), and U(1, -4): (x, )= (k-4 y-1)
| \
|
T S L
T ' K, ) oS )
; L', ) i g ()
5 M, ) ] U —)
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1

Rule:

7. Parallelogram CDEF has vertices C(3, 2), D(8, 4), E(6, -3) and F(1, -5). Its image has vertices
(-6, 6), D(-1, 8), E’(-3, 1), and F'(-8, -1}. Write a rule to represent this translation.

90°: (x,y) —

180" (x,y) —

8. Give each rule for counterclockwise ratations about the origin:

270%: (x, y) —

origin. Give the new coordinates.

Directions: Graph and label each figure and its image under the given counterclockwise rotation about the

and Z(1, -8): 180°

9, Triangle XYZ with vertices X(4, -1), Y(8, -2),

T
[

10, Rectangle MNOP with vertices M(-7, -2),
N5, -1), O(-2, -7), and P(-4, -8): 90°

M , )

.... X, N )

A r__,_.) o)

| 7 ) P )

11. Quadrilateral 4BCD with vertices A(4, 0), 12, Triangle LMN below: 180°
B(6, -2), C(8, -7), and D(0, -5): 270°

A )

B _, ) L)

c__,_ ) M, __)

B D) N (., )
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Directions: Determine whether the figure has line, point, and/or rotational symmetry.

13. 14.
O Line \ d Line
O Point ’ a Point
0 Rotational O Rotational
g None O None
15. 16.
a lLine a Lline
Q Point O Point
O Rotational (3 Rotational
- b None d None
17. 18.
Q Line a Line
' O Point Q Point
‘O Rotational Q Rotational
O None 3 None

| Directions: Graph and label each figure and its image under the given dilation. Give the new

coordinates

19, Rhombus WXYZ with vertices #(1, 0),
X(4, -1), ¥(5,-4), and Z(2, -3): k = 3

[/ G
% 4 G
) S G
VAN GR—

_—)
)

)

—)

20. Triangle BCD with vertices B(4, 4),
C(8, 14), and D(12, 0): k= 1/4

i B, .
e C__ )
D )

i

21. Graph the image of the trapezoid below using a

scale factor of &k = 3/ 2.

R )
S )
T )
U )

22, Graph fhe image of the parallelogram below
using a scale factor of &k = 2/5.

E

B )
T
G — )
A )
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23. Identify the scale factor used to graph the 24, Identify the scale factor used to graph the
image below. image below.
A ; R ; M 17
T T
ARREVANE 1 VALV
N / ‘
yEEREEY | YA
JL \. v
Ll A ‘ i /o ‘ ;
J/ R R ! ; 1 A\
LT AN
/R R \
e i \ :
el \
S k=
M’ .

k=

4

transformations. Give the coordinates of the final image.

(a) Translation: (x, y) — (x—9,y + 10)

(b) Rotation: 270° counterclockwise about the origin
(c) Reflection: in the line y = -x

BONUS: Graph triangle 4BC.with vertices 4(7, -2), B(8, -5), (3, -8) and its image after the following .

A )
B{__.__ )
C (.
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